Review Sheet - 3.4, 3.6 and 3.7
A.  Solve the following:
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5.  The denominator of a fraction is 3 more than the numerator.  If the numerator and denominator are both decreased by 1, the resulting fraction is 3/20 less than the original fraction.  Find the original fraction.

6.  Josh can split a cord of wood in 4 days.  His father can split a cord in 2 days.  How long will it take them to split a cord of wood if they work together?

7.  Mary can side a house in 12 days.  After she has worked for 4 days she is joined by Chris, and it takes them 2 days working together to complete the job.  How long would it take Chris to do the whole job himself?  

8.  Find two numbers such that their sum, their difference and their product have the ratio 3:2:5.  

B.  

1.  Find d so that 
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2.  Find d so that 
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C.  Find all roots of each of the following:
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x2x13x34x100; -3+i is a root


D.  Write an integral polynomial having the following sets of roots
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Answers:  

A.  
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7.  4 days                                             8. 10, 2

B.  

1.  d=-36                                              2.  d=2

C.  
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D.  
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1. x2x10x6x650



[image: image26.wmf]--+=

32

2.  15x14x7x60


_1131956590.unknown

_1131956972.unknown

_1131957041.unknown

_1131957292.unknown

_1134905012.unknown

_1166858678.unknown

_1131957356.unknown

_1131957499.unknown

_1131957216.unknown

_1131957000.unknown

_1131957025.unknown

_1131956988.unknown

_1131956786.unknown

_1131956896.unknown

_1131956951.unknown

_1131956851.unknown

_1131956746.unknown

_1131956757.unknown

_1131956653.unknown

_1131956310.unknown

_1131956546.unknown

_1131956582.unknown

_1131956528.unknown

_1131956137.unknown

_1131956190.unknown

_1131956045.unknown

